Name: Date:

» Teacher: Class:

DAMSS505

Why was six afraid of seven? Because seven, eight, nine!

All four operations on one sheet

- 8,3902% 45813 20824 4,197°> 7,621°% 6,660
+ 2490 + 2526 + 1,024 + 3,680 + 4,797 + 7,681

. 7,0088% 3,139°% 8,738 1% 9544 1. 8354 1> 6,083
- 3866 —-2046 —-3835 -—-5639 —-4989 - 5934

13. 11 14. 5 15. 7 16. 3 17. 3 18. 4
x 11 x 11 x 12 x 11 x 12 x 11

4.

19, 20. 21. 22. 23. 2
11)55 11) 44 12)48 12)96 11)110 12)60

252,942 % 7,136 %"+ 4,096 8 8,518 2° 8,097 3 3,748
+ 5,346 + 4,156 + 1,885 + 4228 + 1,272 + 9,539

3. 3,656 3% 1,82533% 3,808 3% 5022 3% 9,347 % 8,385
- 1116 -1395 -2,7/50 -5405 - 4132 - 1,737

37. 2 38. 6 39. 8 40. 12 41, 9 42. 5
x 11 x 12 x 11 x 11 x 11 x 12

4 7 8.

3 44, 45, 46. 47. 4
11)11 12)72 11) 77 12)108 11)33 11)132

© Facilitators Ferriswheel Score:



Answer Key Date:

» Teacher: Class:

DAMSS505

Why was six afraid of seven? Because seven, eight, nine!

All four operations on one sheet

- 8,3902% 45813 20824 4,197°> 7,621°% 6,660
+ 2490 + 2526 + 1,024 + 3,680 + 4,797 + 7,681

10,880 7,107 3,106 7,877 12,418 14,341

. 7,0088% 3,139°% 8,738 1% 9544 1. 8354 1> 6,083
- 3866 —-2046 —-3835 -—-5639 —-4989 - 5934

3,142 1,093 4,903 3,905 3,365 149
13. 11 14. 5 15. 7 16. 3 17. 3 18. 4
x 11 x 11 x 12 x 11 x 12 x 11
121 55 84 33 36 44
19. 5 20. 4 21. 4 22. 8 23. 10 2a. 5
11 ) 55 11 ) 44 12 ) 48 12 ) 96 11) 110 12 ) 60

252,942 % 7,136 %"+ 4,096 8 8,518 2° 8,097 3 3,748
+ 5,346 + 4,156 + 1,885 + 4228 + 1,272 + 9,539

8,288 11,292 5,981 12,746 9,369 13,287

3. 3,656 3% 1,82533% 3,808 3% 5022 3% 9,347 % 8,385
- 1116 -1395 -2,7/50 -5405 - 4132 - 1,737

2,440 430 1,058 517 5,215 6,648
37. 2 38. 6 39. 8 40. 12 41. 9 42, 5
x 11 x 12 x 11 x 11 x 11 x 12
22 72 88 132 99 60
43. 1 44. 6 45, 7 46. 9 47 3 48. 12
11)11  12)72  11)77  12)108 11)33  11)132

© Facilitators Ferriswheel Score:



